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Which of the following is/are considered as System Software?

(@) LINUX (b) Microsoft Office (c) GIMP
(d) MAC OS (e) Open Office.org

Consider the following word processing applications.

I. LibreOffice Writer.
1. Google Doc.
I11. Microsoft Word.

Which of the above can be categorized as free and open source?

(@ (1) Only. (b) (11) Only. (c) (111) Only.
(d) (1) and (1) Only. (e) (1) and (I11) Only.

Consider the following document segment created using OpenOffice Writer to answer
questions 3 to 5.
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BIT UCsC

BE A PART OF THE KNOWLEDGE SOCIETY WITH
A BIT @ UCSC

BIT is the Bachelor of Information Technology Degree programme

introduced by the University of Colombo School of Computing
(UCSC), in 2000. The UCSC conducts examinations leding to the first-ever External
Degree in Information Technology (IT) in Sri Lanka. The degree is awarded by the
University of Colombo.

BIT Programme is designed to:
= Produce qualified IT professionals through external mode in addition to the
internal degree programs.
= Set professional standards for Information Tecnology degree programs
concerning the IT industry requirements.
= Facilitate those who could not register for an IT degree in a public university
as an alternative/additional academic qualiﬁcation.l

= Provide an opportunity to those who are working in IT to obtain a formal

Which of the following character/paragraph formatting options is /are used to format the above
document?

(a) Drop cap (b) Bullets (c) Bold
(d) Justified alignment (e) Numbering




4)

5)

6)

Which of the following statements is/are correct regarding the above document?

(a) A footer is applied to the document.

(b) “Wrap Through” formatting option is used to place the @ image within the text.

(c) The title of the document “BE A PART OF THE KNOWLEDGE SOCIETY WITH ABIT @
UCSC” is in Sentence case.

(d) Spelling and Grammar check option is not carried out to correct the spelling mistakes in the
document.

(e) Columns can be seen in this document.

Suppose that when you take the cursor on top of the sentence “University of Colombo School of
Computing (UCSC)” a message pops up saying that “click to open https://ucsc.cmb.ac.lk/”.

Which of the following options in OpenOffice Writer is used to achieve this behaviour?

(a) Cross-Reference (b) Comment (c) Formatting Mark
(d) BookMark (e) Hyperlink

Consider the following statements.
I.  “Convert’ option in ‘Table’ menu lets one to convert data in a table into plain text.
II.  Any task which is to be done repeatedly, can be automated by using ‘Macro’ function.
1. ‘Group’ option can be used to personalize a birthday invitation card for 250 invitees.

@) (1) Only. (b) (11) Only. (c) () and (11) Only.
(d) (1) and (111) Only. (&) (I)and (1) Only.

Consider the following document segment created in OpenOffice Writer to answer questions 7
and 8.
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7)

8)

Which of the following options is/are used to create the above document?

(@) Special Character
(d) Draw functions

(b) Bullets
(e) Caption

(c) FontWork

Which of the following screen shots will be generated in the ‘print preview’?

(@)

PARTS OF ATREE

(b)

PARTS -OF A TREE

Leaves
Branches
Branches
Trunk
¢ Figure-I:-Parts-of-a-plant|
Figwre I: Parts of a plant - PattsofaPlant]
Parts of a Plant

& Raot + - Rootf

+ Leaves + = Leaves|

+ Tunk + - Trunkf

. Branches + - BranchesY

(c) (d)
PARTS OF ATREE PARTS OF A TREE
Leaves Leaves
Branches Branches
Trunk Trunk
Figure I: Paits ofa plant Figure 1: Parts of a plant

Parts of a Plant Parts of a Plant
. Root = Root
+ Leaves + Leaves
+ Tunk - Trunk
+ DBranches - Branches

(e)
Branches
Figwe I: Pavis of a plant
Parts of a Plant

- Root

- Leaves

- Trunk

- Branches




9)

10)

11)

Open Office Calc is used to

(a) manipulate data to get certain results.

(b) generate charts based on selected data / data range.

(c) save spreadsheets in Open Document Format using the extension “.ods".
(d) format cells depending on different conditions.

(e) specify logical conditions to filter data on a spreadsheet.

Consider the following spreadsheet segment created in OpenOffice.org to answer questions 10 to 13.

AB | AC | AD Hd AF | AG AH | Al
j Mark Break Down
2 |Index No Name with Initials Project PProgres#Disserta*Viva Total
3 E1 E2
4 |HID130 Dissanayake AIS Supply c 56 78 23 34
i |HID131 Basnayake KNM Banking" 45 67 95 89
f HID132 SenavirathnaJTR Online le! 65 87 23 28
=

Figure 1: Unformatted Spreadsheet

Which of the following cell addresses is/are denotes the activated cell shown in Figure 1?

(a) AEL:AG1 (b) AB1:Al6 (c) AEL
(d) AEL:AG6 (e) ABL:AIL

The spreadsheet shown in Figure 1 is formatted to obtain the view shown in Figure 2.

A AD AE | A [ A6 [AH| A
1 Mark Break Down
> -
TlndexNo Name with Initials Project Title Progress Reports | Dissertation Ef:waEz Total
Supply chain
4 | HID130 | Dissanayake A |S |[management system 56 78 23 |34
for ABC Company
Banking System for
5 | HID131 | Basnayake KN M ABC Bank 45 67 95 |89
5 | HID132 |Senavirathna J TR [ONline learing 65 87 23 |28
e management system
7

Figure 2 : Formatted Spreadsheet

Which of the following formatting options is/are used to get the above view shown in Figure 2?

(a) Filter (b) Wrap text (c) Horizontal Alignment
(d) Merge Cells (e) Vertical Alignment




12) | Suppose the variable “Total” is calculated based on the following evaluation criteria:

e Progress Reports — 20%
o Dissertation — 30%
e Viva-50%

Which of the following formula is/are used to calculate the total in cell Al4?

(a) =SUM(AE4:AH4)
(b) =AE4*20/100+AF4*30/100+AG4+AH4*50/100

() =SUM(AE4*20/100; AF4*30/100;SUM(AG4:AH4)*50/100)
(d) =(AE4*20/100)+(AF4*30/100)+((AGA4+AH4)*50/100)

(€) =AE4*20/100+AF4*30/100+SUM(AG4:AH4)*50/100

13) | Which of the following options is/are used to get a list of student names ordered according to the field,
‘Name with Initials’ of the student in descending order?

(a) Conditional format (b) Sort (c) Filter
(d) Goal seek (e) Pivot table

14) | Which of the following is/are correct regarding cell references in OpenOffice Calc?

(@) $ASF is an invalid cell reference.

(b) Row number is not locked in $B1, and hence row number will change when it is copied in a
particular column.

(c) The column reference will change when $D2 is copied within a column from E2: H2.

(d) D1 is arelative cell reference and it would become absolute when it is changed to $D$1.

(e) Cell references are invalid in OpenOffice Calc.

15) | Which of the following Number categories is/are allowed in OpenOffice Calc?

(@) Percent (b) Font (c) Boolean
(d) Style (e) Scientific

16) | Consider the following statements.

. MS Access is categorized as a free and open source database application.
1. A Database is a collection of information that is organized in a way that can easily be

managed.
I1l.  MySQL, OpenOffice Calc and Oracle database are few examples for relational database

management systems.

Which of the following statements is/are correct regarding Databases and Database Applications?

@ (1) Only. (b) (I1) Only. (c) (1) and (1) Only.
(d) (I1) and (111) Only. (e) Al




Consider the following tables (Figure 3 and Figure 4) created in OpenOffice Base to answer the
questions from 17 to 18.

£ WorkerDetails - Employee-Salary Database - OpenOffice Base: Table Data View

File Edit View |nsert Tools Window Help

B i &7 WK v .
WorkerlD | SuplD | Address | Mame | Skill Type | Hourly Rate |
EOON 5002 Kadawatha Kalpa R |Plumbing 500
~ |eon2 5003 Kaduwela MamalB |Electric 1000
B EGE 5411 Maharagarr Sirisena G |Electric 1500
1 ECO4 5003 Minnariya KosalaT 2000|

Figure 3 ‘WorkerDetails’ Table View

) Waorking Days - Employee-5Salary Database - OpenOffi

Eile Edit View Insert Tools Window Help

= @ F- 7 U
WarkerlD | Date of Work | Mo of Hours |

E0D1 03,/05/19 3
~ |eon /05/19 7
~ |eom 06/05/19 4
~ |eon2 04/05/19 3
~ |eon2 06/05/19 6
I 05/05/19 10
|00z 06/05/19 3
Bl

Figure 4 ‘Working Days’ Table view

17) | Identify the most suitable field(s) that should be used as primary key(s) in the ‘WorkerDetails’ table

(Figure3).
(a) WorkerID (b) SuplD (c) Name
(d) Skill Type (e) Hourly Rate

18) | Which of the following fields is/are considered as foreign key(s) in the Table ‘Working Days’ (Figure

4)?
l. WorkerID
. Date of Work
Il. No of Hours
(@ (1) Only. (b) (11) Only. (c) (I)and (11) Only.
(d) (I1) and (111) Only. () (I)and (111) Only.




19) | Consider the following query designed using the table ‘Working Days’.

I

<

Field WorkerlD Mo of Hours
Alias Total Mo of Hours
Table Working Days  |Working Days
Sort

Visible
Function Group Sum

Criterion 'EDOT

Or 'EOO2

Which of the following final view corresponds to the above query?

(a) (b)
WorkerlD Mo of Hours | WorkerlD | Total Mumber of Hours
B FEDOY iT8 [ gEOOT o i19
EQO2 9 E0DZ g
EQOD3 13 N 13
(© (d)
WorkerlD | Mo of Hours
WorkerlD | Tetal No of Hours | o TEG5] '3
B EEODT {19 EDO1 7
EOOZ g _ |E0QO 4
— EQD2 3
EQD2 5]
EOD3 10
EOD3 3
(€)
OpenOffice Base >
@ The data centent could not be loaded.
Mot in aggregate function or group by clause:
org.hsgldb.Expression@&f7bc5 in staterment [SELECT "Working
Days"."WorkerlD", SUM( "Working Days"."No of Hours" } AS "Mo of
Hours" FROM "Working Days", "WorkerDetails" WHERE "Working
Days"."WorkerlD" = "WorkerDetails"."Worker|D"]
More

20) | Which of the following application software is/are considered as presentation applications?

(a) Lotus 1-2-3 (b) MS Power point (c) Writer
(d) Google slides (e) OpenOffice Draw




21)

22)

23)

24)

25)

Which of the following statements is/are correct regarding the presentations created using OpenOffice
Impress?

(@) A new presentation can be created using an existing template.

(b) Slide sorter view can be used to rearrange the slides of a presentation.
(c) A header and a footer can be applied in the normal view for a slide.
(d) An embedded video can be paused within a slide show.

(e) Slide Master is an effect used in custom animations.

Identify the correct statements from the following.

(a) A presentation created in OpenOffice Impress can be exported into Portable Document Format
(PDF).

(b) Drawing, Line and Filling are toolbars, one may use in presentation preparation.

(c) ‘Slide show settings’ in OpenOffice Impress can be used to change slides in a slide show
presentation, automatically after the specified time.

(d) Font size and the audience should not be thought of when preparing a presentation.

in normal view.

(e) One can use ‘Hide Slide’ option in OpenOffice Impress to restrict changes to that particular slide

Identify the correct statements from the following.

(a) Adobe illustrator is a proprietary software used in graphic designing.

(b) GIMP stands for Germen Illustrator software for Image Manipulating Program.

(c) Fuzzy select tool in GIMP is a tool in GIMP used to select a contiguous region based on the
color.

(d) The area where you work or edit in GIMP is known as Channel.

(e) GIMP can be used as a photo retouching tool to enhance the quality of an old photo.

Which of the following tools in GIMP is/are categorized under “Paint tools”?

(a) Crop tool. (b) Airbrush tool. (c) Shear tool.
(d) Perspective tool. (e) Pencil tool.

Which of the following tools in GIMP is/are used to create the Image 2 using Image 1?

G Viber tGviber

Image 1

Image 2

(a) Text tool (b) Flip tool (c) Scale tool
(d) Rotate tool (e) Shear tool
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